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	O 12 více než
	
	
	
	
	
	
	
	
	

	Dané číslo
	34
	56
	74
	18
	30
	62
	81
	44
	19

	O 8 méně než
	
	
	
	
	
	
	
	
	


  

[image: Obsah obrázku text, elektronika

Popis byl vytvořen automaticky]
12 + ………………….. = 30                         22 + ……………. = 40                    37 + ………………..= 70
70 - …………………. = 24                           30 - ……………. = 12                     48 - ………………. = 18
66 - …………………= 20                              56 - …………… = 21                     ………………. – 12 = 35
79 + ………………. = 100                         ……………… - 54 = 23                     ……..………… - 11 = 76
64 + ………………. = 99                            ……………… - 15 = 70                    ……………….. – 43 = 33
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Pocitani se zavorkami

15+ (30-10) =
40-(15+5) =
(100-40)+25=
(25+30)+15=
5+(15+30)=
(40-20)-20=
(7+8)+(90-60)=
(80+20)-(60+10)=
(70+10)-(40-20) =
10+(15+15)=
(20-5)+(40+30) =
100-(60+10) =

8+ (30 +50) =
(60+30)-20=
3+(11-6)=
(6+6)-(15-5)=
(24+6)-(25-10)=
75-(50-40) =
(15+20)+10=
40+ (80-30)=
(100 - 90) + 60 =
(70+30)-10=
20+(80-30)=
40+ (100-80)=
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